Tun: Pa3znosicenue Ha MHOMCUmMENU

I'pynna A (na «3») I'pynna B (na «4» u «5»)
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29n°x-4nx=0 1. c032x=1—cos(g—xj
cos’ X +4cosx =0 .

2. cos’x+sin*x=1
cos® X —3cosx =0

X .
2sinxcosx—3sinx=0 3. 20052§+S|nx:0

4sinxcos+sinx=0 )
c0s? X ++/3sinxcosx =0

sinx—5sinxcos=0
, sin2x—23c0s? x—4sinx+ 4/3cosx =0
cosx+2sinxcos=0

(2sinx-1)(cosx-1) =0
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sin2x=2snx—cosx+1
9. (cosx+1)(v3cos-2)=0

10. (Zsin x+\/§)(2cosx—1) =0
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6. sin2x—2/3sin? x+4cosx—4/3sinx=0
7
8. sin2x=sinx—-cosx+1
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sin2x+sinx=2cosx+1

10. 2sin2x=4cosx—-sinx+1



